Day 3 Notes
Solving Multi-Step Equations & Name K%

Variables on BOTH SIDES!!!! Date

Period

Steps for Solving Equations:

& Simplify one or both sides of the equation by COVY\b('” l'h a \lll—(, terwms

&8 Thenuse S A D M E P to isolate the variable.

K & Check (M) your answer by plugging your solution into the * ORIGINAL* equation.

/

Combining Like Terms: Solve the equation and check your solution.
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Using the Distributive Property: Solve the equation and check your solution.
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Multiplying by a Reciprocal: Solve the equation and check your solution.
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Equations with Variables on Both Sides

Solve an

1) 7x+10 = 2x+25 (Do =23)+2s 2) 8a-9=2-3a . .
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7) Twice a number, increased by 11, is the same as three times the number, decreased by 12. Find the

number. 2Vl+” - DY\“Z
-ln=-23

‘n= 23|

8) Kris was asked to solve the following equation for r: 2r+3=5r-3
Discuss what Kris did in terms of correctly -ur “r
or incorrectly solving the equation. 3= 3r-3 Vy‘x
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